Introduction to Software Design

CO04. Array, Pointer

Yoonsang Lee
Spring 2020
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Topics Covered

- Hi{E(Array)

« = AFE(String)

« I QIE{(Pointer)
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» 20 QIXZE H{E = =S|



. ex) 1008 2| LIO|Z HZ

— T Ol A SCEH?

— Int agel, age2, age3, .

- W2 741 4
F 7

- 0i® =8z A

* Int ages[100];
. HHE22 E3j 2

0 HZ

7

, age99, agel00;
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N HIE 240 HI

int arr[4];

// int BHEZ=2
// arr HBHE 2| 0]
// [4] BHESl &

- HHE ages2| & B Q4 : ages[0]
» Hf S ages®| F HA| 24 : ages[1]
« HH ages®| i+1H M| Q4 : ages]i]

« HI@ R49| f|X| E-E LEILY
0F B A[E
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int | int

int | int

array[i] — subscript operator

2 indexing operatorcti!
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HH SO M [12] A8 &

- HiE= AT O

int ages[5];

- [12r2e] ==At= HiE€2| £0|= 2[0|

- HiE2 40§22 W

num = ages[2];
ages[1] = 30;

— [19F9) SRy ZH KA B0l A 3 T G+L)0l s
SEE




HI| B S N SA|0] =7]2)5t7]

[
int arrl[5] = {1, 2, 3, 4, 5}; # 12345

i arr

int arr2[] = { ’ ’ ’ ’ ’ ’ };

int arr2[7]

!
—~—

14 4 4 ’ ’ 4 } ;

SE I gige 20 82

i
IS



H| € 2| Z0]| 7t5}7]

* Intarr[5];

* sizeof(arr) ?
« —»20:MAN| HIO|E A7

Hil € o ZO|E 5t . sizeof(arr) / sizeof(int)

o_)S



C & Python Examples

s

* Python

#include <stdio.h>
int main ()

{

int arr[] = {2,4,6,8,10};

printf("len: %1d\n", sizeof (arr)/sizeof (int));

int sum = 0;
for(int i=0; i<sizeof (arr)/sizeof(int); ++1i)
printf ("%d\n", arr[i]);

int min arr[0];
int max arr[0];
for(int i=0; i<sizeof(arr)/sizeof(int); i++)

{

if(arr[i] < min)

min = arr[i];
if(arr[i] > max)
max = arr[i];

}

printf ("min: %d\n", min);
printf ("max: %d\n", max);
return 0O;

arr = [2,4,6,8,10]
print('len: %1d'$len(arr))

sum = 0
for i in range(len(arr)):
print('%d'%arr[i])

print('min: %d'%min(arr))
print('max: %d'%max(arr))

« PythonOl M C2| array 2t
H=xetE2EZ
QEUIN Oz MO|l= A2
listO| Ct. (O] S JH O}

dEol £Ale B0




=X} (String)

e “Hello”
« CAOOME= EAEE S 2 HEAHEICT
e ->chard Hi| &1

char str[l14]="Good morning!";

‘Good mornlng'\a
Null character (W0): COlA| EATE 2| = HAISI7| ?/5H & E StHCH

13=2X2 & 2XES MEo17| floliAM= 20[7t 140] Q! HiEO| ELSIChH



« =AE = AESIHE HEE| S7H0| M E = Z2AHE O] &
O A2 =22t & 45 ZOLOF SHLt,

——

¢ CO 2Xt¥

— HiSO|H, i &2 2 H2e| Shaof A% F=AE Hoott
- TAE U ECEY LE I A2 2 F28 € 5 A

_'_HJ
I!

C
— Jde2fM co| 2X+E 2 null-terminated stringO| 2t

_ (0+ E”6| 251 ™M python |nterpreter°| 7o Mhet ChEX| S 28 &

O] AF23t= CPythonl| AL0f=)
— str AX|0|0, 22| SZtAo AZF AL EALEO| Z0|E 7t
X3 QLCH
— A|Z FAQL HO|E SOl € TAE L = ULt




Hi E 1t =XE

o| X0| 3

char arrl[]={'H', "1'", "!"'""};
char arr2[]={'H', '1', '"!'', "\0'"}; // == char arr2 = "Hi!";
o
e arr12 Th=5| chard HEO|LCt

e arr2= =XIE0|LCt

» C= chard Hi{E0| null character?} &
MoloF ZArE = ¢




C & Python Examples

« C

* Python

#include <stdio.h>

int main()

{

char str[] = "Good morning!";

printf ("HHE str2l 20[: %d\n",

sizeof (str)/sizeof (char));
printf ("EFZAE At
printf("EFZAE = A

printf("%s\n", str);

str[8] = "\0';
printf("%s\n", str);

str[6] = "\O0';
printf("%s\n", str);

str[l] = "\0';
printf("%s\n", str);

return 0;

: %c\n", str[l13]);:
: 2d\n", str[l13]);:

str = 'Good morning!'
str[0] = "\O'

# TypeError: 'str'
object does not support
item assignment

« Python2| string=

HE =2 It s (immutable)
ot2 & 0]efst HAHO|
= I SotLt




#include <stdio.h>

int main()

{

char str[50];

printf("=Xtd alad: "), HHE 0| str &0l= &2
scanf('%s" str);«—— Z0|X £=CH

printf("(=er2 AL %stin", str);

return 0; _
Ot he is my friend2t) S 6tH?




M| = 2 2f| 0] OF=

QUXIMO 2 S0fA L9 HjClE AHZIstTH =
cURXMO Z SO{M 1XtE BHE = MZUSIH =

« O X| ~ Z|CHHHX]

AL L— b -

- HX|== 1HIO|EDOIC} 18 Z7}

« O:
O 22| AKX
o|E HX[0of HEE= LHE
10241 110242110243 110244 (10245110246 |10247 11024810249 |10250]10251 (10252110253 ]10254 110255110256 |10257|10258|10259(10260
10261 110262110263 110264 | 10265 | 10266 | 10267 | 10268 | 10269 | 10270] 10271 | 10272110273 ]110274 110275110276 1027710278 |10279|10280

G

T A= otLtel ofjof Eatet...

)




intd tH

L

7t M

3E B

[ —

Int numl = 5;
int num2 = 129;
00000000 | 00000000 | 00000000 | 00000101
10241110242 110243110244 (10245110246 110247 110248 | 10249 | 102501 10251110252 [ 10253 [ 10254 | 1025510256 | 10257 | 10258 | 10259 | 10260
numl
10261 | 10262 | 10263 [ 10264 | 10265 | 10266 | 10267 | 10268 | 10269 | 10270 | 10271 [ 10272 [ 10273 | 10274 | 10275 | 10276 | 10277 | 10278 | 10279 | 10280
numa2
—, | 00000000 | 00000000 | 00000000 | 10000001

address-of ALHAE: =4 4= Hisl

-> 10246 (5)

ARM A€ - Big-endian : 10| EA|E =X

-> 10272

Intel x86 A€ — Little-endian : HIO|E EtQ| 2 HICH & A
o)) 5 -> 00000101 00000000 00000000 00000000




double, floatd HE71 H&EE 25

double a = 3.14;
float b = 1.1;

o [ o | o | . |

exp (EE E3)

o [ o | o | o | o | . |

10241 (1024210243 [ 10244 | 10245 [ 10246 | 10247 | 10248 | 10249

10250 10251 | 10252 [ 10253 | 10254 [ 10255 | 10256 | 10257 | 10258 | 10259 | 10260
10261 (10262 | 10263 | 10264 | 10265

10266 [ 10267 | 10268 | 10269 | 10270

10271 1027210273 (10274 [ 10275

10276 | 10277 | 10278 [ 10279 | 10280
b
0 0 0 0 0 0 0 0 0
s exp (EE EH) frac (M2 B¥)
&a == 7 -> 10246
&b == ?

-> 10272



chard H=x= EXIE 0| A=l B =
1 [
char ch = A ;
1 1
char str[10] Hello";
01000001 | (‘A'==65)
10241110242 (10243110244 110245(10246110247 110248 |10249110250]10251(10252110253110254|10255]110256]1025710258|10259|10260
ch ‘A’
10261110262 (10263110264 110265 (1026610267 ]10268|10269|10270]10271(10272110273110274|10275110276]10277110278110279]10280
‘H’ ‘e’ ‘r ‘1 ‘0’ A0’
&ch == 7 -> 10244
str == 7? -> 10266




I Q1 E{(Pointer)

- Aol 022 =25 K

Ot =

double a = 3.14;

float b = 1.1,

10242 (10243 | 10244 [ 10245 | 10246 | 10247

1025710258

10262 [ 10263 | 10264 | 10265 | 10266 | 10267

1027710278

o Qo
I
I

O QL
[
I
o) N

-> 10246

int a_address = &a;
-> 10272

// B1= a_addressl 10246 X &f?27?




I Q1 E{(Pointer)

10241

10242

10243

10244

1024510246 | 10247

10248 [ 10249 | 10250 | 10251 | 10252 | 10253 | 10254 |1 10255 | 10256 | 10257 | 10258 | 10259 | 10260
a
10261 [ 10262 | 10263 [ 10264 | 10265 | 10266 | 10267 | 10268 | 10269 | 10270 | 10271 [ 10272 [ 10273 | 10274 | 10275 | 10276 | 10277 | 10278 | 10279 10280
b
—t |
Moot g double* a_address = 8a;
- ‘galtol HH - ouble* a _address = &a;
o

CrEet Ategol Bl 45 A

EZOIE HO| 2 &Y
— Int*
— double*

SEHEL




e int* it ZOIH —intd Ho| =AE HE

e int* pnum1; /lintd I #H== pnuml

 double*  :doubled EQIE —doubled H=9| A E
NES)

» double* pnum2;  // double® £ QIE{ B == pnum?

e char*, float*, ...



2 QI Hayot o 22| o XFE

BS

#include <stdio.h>

int main()

{
char chl = 'a';
char* pch1l = &cht;

printf
printf
printf
printf

AN N N N

return O;

value of chl:

address of chl: 1636819

value of pchl:

address of pchl: 1636804

977

1636819

"value of ch1: %d#¥n", chl); Al
"address of chil: %p#n", &chl); = A O
value of pchl: %ptn", pchl);
"address of pchi: %pWn", &pch1); | %p= HZE]

/

A2 HEEE o 22| Fo

OtCh &2l CY,




ZOIE HE7H 220 MEE 2S5

value of chl: 97

address of chl: 1636819
value of pchl: 1636819
address of pchl: 1636804

1636801 | 1636802 | 1636803 | 1636804 | 1636805 | 1636806 | 1636807 | 1636808 | 1636809 | 1636810
pchl 1636819
1636811 | 1636812 | 1636813 | 1636814 | 1636815 | 1636816 | 1636817 | 1636818 | 1636819 | 1636820
chl ¢a’

)

points to
(Zt21Z|LC})

o 1M Ho| M2 A5 MYSts BHaE
pointer 211 SFCH



=0l =&otA %3.

ZOIE{O| Al ~2] A
. ZOIE HAZ MOiat [ 1 101) *0| @ 0 M| =
AL Sery B,
. int* pnum; // (1)
INt* pnum, int * pnum;  // (2)
Int *pnum; // (3)

« XKL 7IE|7|= HETE  |ihve= 5100 2oz
KEXSHH (ZFA KFR O A} OIAIGH)| |2 &E Ol int2t
SEE i (TEa2 A s2 20{ME ()HE =&,

2 = % ;
ntlie = =phum &D2) Ol 22 MO Jbs
*pnum = 20, int num, * pnum;
otKIBHIint*E 0 M| H|




2 QIE|7} 7tE|7| = a7t HHE =& QULCt

#include <stdio.h>

int main ()

{
int nl = , N2 =
int* pn;

pn = &nl;
(*pn) += // nl
pn = &n2;
(*pn) -= // n2

printf ("nl:
return

(1)

pn

(2)

15

ni

n2




Quiz #1

* Go to https://www.slido.com/
* Join #isd-hyu
* Click “Poll”

« Submit your answer in the following format:

— Student ID: Your answer
— e.g. 2017123456: 4)

* Note that you must submit all quiz answers in the
above format to be checked as “attendance”.


https://www.slido.com/

Crer ZIE Fo| EXlst= Ol

o OIXiO| O H=p7F M= M 22| SZHe| A2 =40 Y H £ X|
ULER? - (X)

. intE W2 *01AS S 22| D Al 4HH0|E Bl 22| 32Hof
M40 WAloZ H0|Ef2 ¢ 2Act

—

+ float*y Hp 2 *A4S SOl B 22| B Al 4BHIO[E K 22| 52
Of M40 A0 Z HO|HE 1 £2C

#include <stdio.h>
int main ()

{

float num ;
int* pnum = &num;
*pnum =

printf ("S£\n", num);
return 0O;




// ptrOl A gl= =JIstE 20001 MEE= /AXNE & =t

sl flgst 2E

int* ptr = ;
*ptr = ;

// 10BIXIOF ST OIEH AFBED USKE 225 HEHOIA
LOHIXI0 OIS MBS D ot 9




L=

= (Null) QI E

ZRH7t 7te|7|= HZt LSO 28t = 8R0= 8 &
OIE{ (null pointer) & A 7|3} 8= Z40| QM SIC

int* ptr = NULL;

— NULLZ 02 £ definek| 0 UL} O]l= 0H X[ = 7t2|7|= A 0| OfL
o, OFF AL 72| 7| K| &%= AL 2 S| M 0| =ICt

2 of2jt 20| ©|0] Q= Z23k0| IOIEof ChYE|of 9l
SX| 23 2 Baw A Stz = ot A0 T AN

if (ptr2 == NULL)
ptr2 = &numl;

*ptr2 = ;




32bit & 64bit OF7 | Ell

* 32bit CPU * 64bit CPU
* 32bit OS * 64bit OS

R FTAENDItE HAH W22 TAE 64bit 2 HA

LA AEIO| QM 4 Qe A« AIAEO| QIAE 4 B

Cf o 2 2 CH o 22
» — 22 HIO|E = 4GB (0| 24) +— 2% HIO|E = 16TB (0| 2 4)

« LOIE S| A 7| =2 . IOIEO| A7|=7
- — 32bit=4 HfO|E - —> 64bit = 8 HFO|E



Hi E 2| O] 5

#include <stdio.h>

int main()

{
int arr[3] = {5, 10, 20};

printf("tfd o|& Atxlel 4t:
printf("s Huj Ao FA:

= on 240
Ao 2

printf
printf

A~ A~~~ A~~~

-
b

return 0;

HiE OlF AiA|2
A OEW @49
T HM |49
M B @aco

14 4
g

1638052
1638052
1638056
1638060

%pfin", arr)
%pfin", &arr
© %ptn", &arr
© %ptn", &arr




HHEO| M 2|0 XMEE 25

int arr[3] = {5, 10, 20}; | |H= Ol ArAIS| &

N OHR Qa0 T4

arr®| 4f =

\/

F_

T
 — ~
= B 249 T4

T

N HERf 240

1638052
1638052
1638056
1638060

arr[012| =2 ESEN
Cint B o|7| mjE

—

of %40|7} 4

1638050

1638051

1638652|1638053|1638054|1638055 1635056|1638057|1638058|1638059 16§éoao|1638061|1638062|1638063 1638064

1638065

arr(0] 5 arr[1] 10 arr[2] 20
-HIZ 2| O|F =2 HIEL| A& =2 40 (R B 24
of F4a4h)= 20|
« CEA| ESHH, arr == &arr[0]




H B0t QI 9| FAHS

. 5 ChH(OH) F2AE LIEHY

- HiE, Z2QH E5& ~AM= A 7ts
- HiE, ZQH 25 [19M= A8 7ts

{5, 10, 15};
arr;

int arr| ]
Int* parr

// 5555 & &
printf("%d %d %d %dtn", arr[0], *arr, parr[0], *parr);




H| B 1t 2 QI 2] X}0]

. Hj¥2 EQIE{7} ofL|Ch

- HiE2| O|F0f| CFE = e =+ Sl

int arr[3] = {5, 10, 20};

. Aot o !
Int num = 30; e el

error C2106: '=' : 21Z m|H
arr = &num; // X MAH= |-valueO|o{of B},

[HI 2 Ol =2 &1 [BH E Ol &2 =24X]0] Z£LF.

int arr[3] = {5, 10, 20}; Srr e
orintf("arr: %pfn", arr); +
orintf("&arr: %ptn", &arr); * WOl 20t (ELEaE

[¥E¥iﬂWLﬁa”




H| B 1t 2 QI 2] X}0]

e sizeof HAKAL A1Vt CHELCEH

| = ; size1==12: H{€ TN 37|
:21*3;;?]: afff 10, 208 | 0 oy Bl viol 251

int sizel = sizeof(arr);
int size2 = sizeof(parr);




C Example

#include <stdio.h>
int main ()
{
int arr[3] = {5, 10, 20};
int num = 30;
//arr = &num; // compile error
int* parr = arr;
printf ("%$d %d %d %d\n", arr[0], *arr, parr[0], *parr);
printf ("arr: %p\n", arr);
rintf ("&arr: %p\n", &arr); .
P ( P )  Python(il = pointer2]
] = OF =
printf("parr: %p\nn, parr); jH O| XHO"X' LS }
printf ("&parr: %p\n", &parr);
printf ("size of arr: %d\n", sizeof (arr));

printf ("size of parr:

return 0O;

$d\n",

sizeof (parr));




#include <stdio.h>

int main() pili: 1636948, pi+l: 1636952, pit+2: 1636956
{ pd: 1636932, pd+l: 1636940, pd+2: 1636948
int 1 =1;
double d = 1.2;
int* pi = &i;

double* pd = &d;

printf("pi: %p, pi+l: %p, pi+2: %phn", pi, pi+l, pi+2);
printf("pd: %p, pd+1: %p, pd+2: %ptn", pd, pd+1, pd+2);

return 0;



int 1 =1,

double d = 1.2;

int* pi = &i; pi: 1636948, pi+l: 1636952, pi+2: 1636956
double* pd = &d; pd: 1636932, pd+1l: 1636940, pd+2: 1636948

intd LOIEHO| 12 GStH, 2K 4r=2 4 57t
doubled L QIE{0f| 12 GolH, X 4428 57t

|m
ox
Ral
HL
)%

O 1= HotH, =X 42
7

ZkA o OFKEZHX|




HiE 2| [] Hatel oo

o arr[i] : BiEO| M index i0f] /| X[ol= 242| 2t (i+15HW
7I-)
HA

« O)|int arr[3] = {5, 10, 20};
e arr[2]: int@ i € arrOl| A index 20 ¥ X|St= 49| 4}

1638050| 1638051 1638052|1638053|1638054|1638055 1638056|1638057|1638058|1638059 1638\860|1638061|163 1638063 | 1638064/ 1638065
arr[0] 5 arr[1] 10 arr[2] 20




« O)|int arr[3] = {5, 10, 20};
« *arr+2): intd B E arrl| A2 FAZ R EH 2 B F 574
=l =0 MYEEO /=4,

-~

1638050| 1638051 1638052|1638053|1638054|1638055 1638056|1638057|1638058|1638059 1638060|16&3061|1638062|1638063 1638064 1638065
arr[0] 5 arr[1] 10 arr[2] 20




ZQIE|Q| Z7hZt2 HAL HiEO| [] A4
o] &7

» HYEO A index i ?[X[ot= R24-2f gf (i+1HW 4!

+ (arrO| HIE Q| O|F 0|0, ZOIH HE-O T dH)



C Example

#include <stdio.h>

int main ()

{

int arr[] = {5,
int* parr = arr;
int 1i;

for (i=0; 1i<4;

{
/] BE &2
printf ("%d
*(parr+i) ) ;

}

return 0O;

i4+)

o\° n-l|0

15, 20};

LIEHA CF
d $d\n",

arr[i],

* (arr+1i),

parr[i],




Quiz #2

* Go to https://www.slido.com/
* Join #isd-hyu
* Click “Poll”

« Submit your answer in the following format:

— Student ID: Your answer
— e.g. 2017123456: 4)

* Note that you must submit all quiz answers in the
above format to be checked as “attendance”.


https://www.slido.com/

Quiz #3

* Go to https://www.slido.com/
* Join #isd-hyu
* Click “Poll”

« Submit your answer in the following format:

— Student ID: Your answer
— e.g. 2017123456: 4)

* Note that you must submit all quiz answers in the
above format to be checked as “attendance”.


https://www.slido.com/

i gl 188 7| SH SHMFL 42

int main()

{

int arr[] = {5, 10,

printArray(arr) ;

return O;

15};

void printArray( ? )
{
int 1,
for(i=0; i<3; i++)
printf("%d ", arrl[il);
printf("wn");
}



HIE2| LHE S E7]| 4| &5l = &2

int main() void printArray(int* arr
{ {
int arr[] = {5, 10, 15}; int i;
printArray(arr); for(i=0; i<3; i++)
printf("%d ", arrl[il);
return 0; printf("#n");
} }

?

oIr

i OIEHl ot= A0l It

int arr[] = {5, 10, 15}; Ol HHE =S LIS, ZOIHE
int* parr = arr,; HHIEXHE & = UA2LL...
printf("%d %d %d %d#n", arr[1], *=(arr+1), parr[1],
*(parr+1)) ;




Crefet Z0|2| H{E = AXIZ T HCHH?

» Of2ff ZEO|NM FHO| 22X E71?

int main() void printArray(int* arr)
{ {

int arr[] = {5, 10, 15,1}; int i;

printArray(arr); for(i=0; i<3; i++)

printf("%d ", arr[il]);

return 0; printf("#n");
} }

— void printArray(int* arr)2 MEEr= arr= o A|Zf

F2E Jte|7]= ZQIEo|E R Hfdel Zo| HEE JHX| 1

UKX| BLCL.

— J=CctH o{Z A sHof &at? > vige 20| X2 MY



= S5

Of

Sh40| OIX}I2 HjHES e

T

» ZOIE D72 BBl AZF FA ZF HE
C

- HIEQ| ZO0|= 274 QA= U

int main() void printArray(int* arr, int
{ len)
int arr[] = {5, 10, {
15,1}; int i,
printArray(arr, 4); for(i=0; i<len; i++)
printf("%d ", arr[il]);
return 0; printf("wn");

} }



C & Python Examples

« C

* Python

#include <stdio.h>

void printArray(int* arr, int len)

{
printf ("Array ");
for(int i=0,; i<len; i++)

printf("[%d]:3d, ", i, arr[i]);

printf ("\n");

}

int main ()

{
int arr[] = {5, , , , , };
printArray(arr, sizeof (arr)/sizeof(int));
return 0O;

}

def printArray(arr):
print('Array ', end='")
for i in range(len(arr)):
print (' [%d]:%d, '$(i, arr[i]), end="")
print ()

arr = [5, 10, 15, 20, 25, 30]
printArray(arr)




H{ES QUXIZ MES 0 &£ CHE 27| H

void printArray(int* arr, int len)
- O|E A St= L4

void printArray(int arr[], int len)

- O|ZA & =& UL

.+ 25| €Tt 20| arr2 H1E 0| O, = QIE{ O[T}

. EHX| “HjQo| L2 g B O FE Eo|Yoj2tn ¥



Next Time

e Labs In this week:
— Lab1: 2tA| 9-1
— Lab2: 1}A| 9-2

* Next lecture:
— 10-CO05. String Functions, Text Games in C, Const



